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Question Number : 1 Question Id : 6780946004 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B are 20 and -& then the trace of (A+B}is

Options :

12
-~
- 28

28

[

Question Number : 2 Question Id : 6780946005 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¢ 1]
10

It 4= s an Invoiutory matrix then x=

Options :
1 0
y =i
. —~1
d, -

Question Number : 3 Question Id : 6780946006 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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-
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The determinant of |loge® lozes logs | is

o
|l o log e

Options :

3

-
—

Hoge

L

Slog e

Question Number : 4 Question Id : 6780946007 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1T 4

-2 1 3| then detiwdid =

D1 2
Options :
1 det A

1
_det 47

—dlatr 4

!—'J

([ det A )'

Question Number : 5 Question Id : 6780946008 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
: AL

;U

Question Number : 6 Question Id : 6780946009 Display Question Number : Yes Single Line Question (dntion : Nn Ontion
Orientation : Vertical
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| Cthen - —-FE =

1 —
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If

Options :
3.

1.

.

2

5

Question Number : 7 Question Id : 6780946010 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR k. 1 .
| = | theh «:b=
(y—aldxy—86) a—a x-=9D

If

Options :
_
=2

R |

12
3.

Aol
4

Question Number : § Question Id : 6780946011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ran&357 =

Options :
1

i

—.

I

J2

Question Number : 9 Question Id : 6780946012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 il ) %
1T taner = and tan & = then ranle+ 1=

e REIFETY

Options :
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Question Number : 10 Question Id : 6780946013 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of Guin 209 —=8«gin™ T0% =

Options :
1. 2
i
NG
NE
3.
|
&
4

Question Number : 11 Question Id : 6780946014 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If Aei@4+dcosf =5 then the value of 4sm & -3¢0z 8=

Options :

U
-

3. ]
2

Question Number : 12 Question Id : 6780946015 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 is

Options :
)
SIE

1. 5
. A
SEET

;)

. ;
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Question Number : 13 Question Id : 6780946016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin= = Scea- v S

Options :
a!

1.

. 3

v O

.

, 34

Question Number : 14 Question Id : 6780946017 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The eguation J3snx+cosy=4 has

Options :
1_ Qnly one solution
~ two solutions

. Infinite solutions
, no solution

Question Number : 15 Question Id : 6780946018 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: ) _ _ _ L.
The solution of Cos™ (31 )+Cos o =2 is

Options :
|
-
1.
1
v
1
-
3.
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Question Number : 16 Question Id : 6780946019 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin&+sunf +120%) —sh1120° - &)1 =

Options :
1. D
SIEE

'I

I

— 111 7

Question Number : 17 Question Id : 6780946020 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of 3 osecA =451mA 13

Options :
1.
T ;
i

mN
: 4
a.

+i7
4.

Question Number : 18 Question Id : 6780946021 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=

: 1 . .
If |-- —1 =\:‘ + 1. then z lies in

Options :
1 The real axis
3 clicle

The Imaginary axis

Lo

a parabola
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Question Number : 19 Question Id : 6780946022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1477 (1= .
If \ — o +{5. then & an b are
. ] —7

SESN

"mm pm, =

Options :

K
2,-2

% {.-2
0.-1
1,

Question Number : 20 Question Id : 6780946023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If the line +=2v+ris atangentic +~ — -~ =< then the value of ¢ is

Options :

y 2

L

L

3
=
5

Question Number : 21 Question Id : 6780946024 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0is

Options :
[—. 1)

1.

04—

) —4.—1]
W)

4

Question Number : 22 Question Id : 6780946025 Display Question Number : Yes Single Line Question Option : No Option

Orilentation : Vertical
The number of tangents to the ellipse : : '1: =1 through (2.1} 1s

Options :

. O
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Question Number : 23 Question Id : 6780946026 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The fength of the latus rectum of the hvperboia »- — 2y =4 s

Options :
, 2
O
3. 4
. <

Question Number : 24 Question Id : 6780946027 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the ditameter of the circle ¥ "-_Tj —Gr—81 =0 Ii5

Options :
.10
5 10
5 9
, 20

Question Number : 25 Question Id : 6780946028 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the line 21 =%y +/ touches the parabola - =6+ then k=

Options :

SER

r_;_.l_l__

L
|

| S

4.
&
@collegedunlas
India’s largest Student Review Platform

i



Question Number : 26 Question Id : 6780946029 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[r113 =
I— e 3 —

Options :

]
-

gy £
g

Question Number : 27 Question Id : 6780946030 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If Ffixvi=il+=x1% is continucus ai v=10 then =

Options :
2
1 °
.
- &£
{Jj
30
1
4 £

Question Number : 28 Question Id : 6780946031 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

()
If v =agsecH v=htrand then — =
Ty
Options :
£
— e G
[
£
—oosec &
5 i)
¥
— 20 7
£
2.
%
cosec
Iy
4.
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Question Number : 29 Question Id : 6780946032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ey

. i i
If = =" then — =
Ry

Options :
logx

-ﬁ

1+ 1loex)”

log

(1—log v}

—log x
.
- il+logayr
.
—1
)
) (1+lozx)-

Question Number : 30 Question Id : 6780946033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f +=sin "

Options :

-
1+ 3~
1.
|
L+
B,
ﬁ 143
.
a5
[ + 47
g

Question Number : 31 Question Id : 6780946034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
The slope of the normal to the curve y=asecf. v=gtand at #=— I8
3

Options :
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1.

0
1L

L

Question Number : 32 Question Id : 6780946035 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of a circle with respeact to radius when r=5¢m Is

Options :
27 sg.omisec

107 sg.cmisec

1T sg.emisec
£

2Uxr sg.emisec
4.

Question Number : 33 Question Id : 6780946036 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vihich of the following function has maxima or minima®?

Options :

I. n
l..
L

1.

low

L=
—
1

Gt a4

S31% 8
4

Question Number : 34 Question Id : 6780946037 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the Increase In the side of a square 1s 2% then the approximate
percentage Increase In the area of the square Is

Options :

| 2

-
1

e

4
b
-

4
&
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Question Number : 35 Question Id : 6780946038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
& 7

For the function #i{x)=log’>" + 73 which of the folowing is true?

Options :
T =
ot £ =0
1.
?t.‘{_’- ) "TJ:' = {}

e

¢ ﬂ‘ - f o 2

Question Number : 36 Question Id : 6780946039 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| cosac” Beot 846 =

Options :
cot” 6
“1
1. =
—coseg” @
. 5
cosec” @
3 3
—cosec’ &
=3 ¢

Question Number : 37 Question Id : 6780946040 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R .-
* oy
: —
s A=
Options :
™
loe —
1 R
4
log —
A

L3
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x
log —
3. i
E
log —
1
1

Question Number : 38 Question Id : 6780946041 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

£
r I"||.'
If ¢t - 05 then |_‘f~,{1-:

o

Options :

| b—a

B, i —1

s 4D

, U

Question Number : 39 Question Id : 6780946042 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1

&

-1
YAt ATy =

[
Options :
e 1
S
1.
T 1
5 =
s | [
102
3.
T o1
- I '.:I
4 > B

Question Number : 40 Question Id : 6780946043 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
it a
15 < | .
1181 [/, —¢' =
N—si =1 7

Options :

1. ¢
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i1+ et

n
1—e)
3
(e —10
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Question Number : 41 Question Id : 6780946044 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

74
] 5
| sec” vdv =
)
Options :
!
1
28
S
RS-
=
3. 12
]
E
4. 7

Question Number : 42 Question Id : 6780946045 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=Ilogx. x-axis and the straight line

y—¢ =18 sguare units
Options :
1. €
. fe—1)
.
.
11—
4 %

Question Number : 43 Question Id : 6780946046 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating one arch of the curve
1= 5in3y about the x-axis 15----

Options :

"

.-T_
1
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Question Number : 44 Question Id : 6780946047 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

=3

s 1
—— =5 —
| i A
T

.-:. - [}
A
HTT

=
S
A
IR A N TR
|—7- TI'; +
L e L !

1 =cv—c7 |5 the general solution of tne differential equation

-

- b

Question Number : 45 Question Id : 6780946048 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :
T=31re
1.
1= a4
A=+
3.

The general solution of the differential equation

~

i
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Question Number : 46 Question Id : 6780946049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the famity of curves 1+ = aot
where a and o are arbitrary constants. Is

Options :
(f (71
A
T <Ay
.
(- M
1 — = {}
- l.!;lj-"f; (4
- T i
d-v o (o
-ll. — T
I::':Iql. B - i
3.
AN
— — 17 =]
4 [".J'T.T

Question Number : 47 Question Id : 6780946050 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

iy Ddv v+ idr =008

Options :

X
5

1

L

e

Question Number : 48 Question Id : 6780946051 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The differential equation whose solution is 4v~ — B1~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree

&
@collegedunlas
India’s largest Student Review Platform

i



2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780946052 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 T

The general solution of the differential eguation —-4—<=5x=01Is
AT T

Options :

A

V=g cost oy anrle”

L
; . b
o r=ilopcos vt oy SN )T
[ ozs osad T r

N=A0y COs 2oy s T e
3 -

F=iecos 2yt os s Ix)en
& .

Question Number : 50 Question Id : 6780946053 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (=271 =sin 2y is
.
Cors
n

511} o
.

'

—COn

| .0

L

— 511t

|

Plyysies

Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No
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Question Number : 51 Question Id : 6780946054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of
Options :
1 moment of force

lnear momertum

L J

force

.

[Fressidie

Question Number : 52 Question Id : 6780946055 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+bt® where t is the time. The dimensions of a and b

dle

Options :

1 MLT™ MLT

MLT™ MLT™

1

MLAT ™, ML“T

)

MLZT™. ML

Question Number : 53 Question Id : 6780946056 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + 87 and having a magnifuae of 5 1s

Options :

| 47 + 3}
127 + 187

1

L.

16: +87

oy

S+ Af

Question Number : 54 Question Id : 6780946057 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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1 cos K

cos  (1/K)

L J

sinK

I

sin”*( 1/K)

Question Number : 55 Question Id : 6780946058 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball ts thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum neight reached by the all Is

Options :

1 T0 m
. 20m

—

S A0m

.

) 40 m

Question Number : 56 Question Id : 6780946059 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60 with the harizontal with
same velocity simultaneously. Ratio of thelr horizontal ranges Is

Options :

1 v a2

I_I-II-

2

| 1.2
g 2

L

Question Number : 57 Question Id : 6780946060 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 1s caught 2 seconds later by another at some distance

avway on the same level. If the angle of projection is 30¥, the velocity of

&
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19.6 misec
1.

- 9.8 misec

4.9 misec

oy

5.7 misec

Question Number : 58 Question Id : 6780946061 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. If there iz no flow and he swims with the same

velocity, the time taken to cross the river s

Options :

oW

— e

13

'|

I

2 sec

L

25 sec

L

o —

2o 2 osen

Question Number : 59 Question Id : 6780946062 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional torce along the Inclined plane s

Options :

. 198 N

. 0.98 N
049 N
, 0.245 N

.

Question Number : 60 Question Id : 6780946063 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact Is

Options :

0.2

&
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0.4
0.8
0.1

Lt

J

Question Number : 61 Question Id : 6780946064 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Durng thils process, the farce on the

cycle due to the road is 200N and is alrectly opposed to the motion. The work

done by the road on the c¢ycle is

Options :

1000 J
- 20004

1

L k!

-1000J

N

- -2000

Question Number : 62 Question Id : 6780946065 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain helght. After 3s, its Kinetic

gnergy Is =10 mr‘si)

Options :

. 5
50

5 K

| A

J

UK

Question Number : 63 Question Id : 6780946066 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 500 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

What would be the minimum power of the motor to be used?

Options :

100 W
500 W

&
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. 980W
300 W

q

Question Number : 64 Question Id : 6780946067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al =0, the displacement of a particie In SHM is half its amplituge. lts Initial

phase s (referring to mean position

Options :
it

6
1.

i_lq__;l‘r'—_-l:

|

e

h..n‘:l

Question Number : 65 Question Id : 6780946068 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendutum is 100 cm. To have a period half of this valle,

the length 1s 10 be reduced by

Options :

25 om

]

faem

L of

50 om

R

100 om

Question Number : 66 Question Id : 6780946069 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

| directly proportional to volume

iInversely proportional o sound absorption

_‘
—

&
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poth airectly proportional to volume

and
Inversely proportional to sound absorption

-
.

) depends on temperature

Question Number : 67 Question Id : 6780946070 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon is different from that of a mosauito becalise

Options :
. the sounds have different pitch

they are of gifferent size

L J

the two voices travel with different ve.acifies

N

the soungs have aifferent phases

Question Number : 68 Question Id : 6780946071 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A caris traveliing at— m/s and sounds horn of freqguency 980 Rz, The

w U

apparent frequency heard by a police chasing the car at lg mis (v IS the velocity

of sound) Is

Options :

1 Y80 Hz

900 Az

100 Hz
, 1000Hz

L A

.

Question Number : 69 Question Id : 6780946072 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internai energy ncre

"
- L
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enfropy of the system increases and internal energy increases

-
.

antropy of the system increases and Internal energy decreases
4,

Question Number : 70 Question Id : 6780946073 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falis from a heignt of 3 mig=%.= f‘:“:fﬁz}. Assuming that the
whole energy 1s converted into heat, the amount of eat sroduced 15

Options :

1 2 cal

2.7 cal

_4{:3\

s

| 4.2 cal

Question Number : 71 Question Id : 6780946074 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 mofes of a ¢gas, the change in internal

energy was found to be egual to 100 J. The work done during the process will

be equal to

Options :

1 FA=] L,

. 100
200 J

I

100 J

Question Number : 72 Question Id : 6780946075 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i

The pressure and density of a diatomic gas { y =§ '] change adiabatically from

i 1
(P.d)to (PLd'). If =~ =32, then — is
Options :

1 128

v 32
&
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2 A3

.

4, G4

Question Number : 73 Question Id : 6780946076 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

-
|

ISOChoric changes

L

[SOtopIe chahges

Question Number : 74 Question Id : 6780946077 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal iIs v.. When a light of frequency 4 v, s

Incident on metal then the K E . Of emitted electrons s

Options :

2 u. N
1

3 ‘.1'|_.'-. h

L

Question Number : 75 Question Id : 6780946078 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

superconductors are materials

Options :

y dielectric

. paramaagnetic

ferromagneiic

.

diamagnetic

Chemustey a
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India’s largest Student Review Platform

i



Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780946079 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Paul exclusion prnciple 1s coencerned th

Options :

. Energy of orbital.

opin of electron.

L

Energy of electron

I

Angular momentum of electron

Question Number : 77 Question Id : 6780946080 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Bohr s mode| of hydrogen atom, the following 1s guantized

Options :

1 Lifnear momentum

Linear velocity

L

Anguiar momentum

I

Anguiar velocity

Question Number : 78 Question Id : 6780946081 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicuiar nodal planes

Options :

 Two

Thres

|

Four

L

Flye

Question Number : 79 Question Id : 6780946082 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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n sodium chloride crystal. each Na™ ion is surrounded by

Options :

T O 1ons

Faur O ons

4

Sk G 1ons

e

Eignt ClI jons

Question Number : 80 Question Id : 6780946083 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following moleclis contains a 1 — 2ond

Options :

L

HC

Question Number : 81 Question Id : 6780946084 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vifhich among the following is insoluble in water?

Options :
Alcohol

Ammonia

L

Banzensa

I

Acetone

Question Number : 82 Question Id : 6780946085 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H.50, salution is

Options :
1 U. 46N
.23 N

L

J

. 2.3 N
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, 4.8N

Question Number : 83 Question Id : 6780946086 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of moleciular weignt 40 1s dissolved 1in 250 g of 'vater. Then the
moiality of the solution 1s

Options :
0.4

1.

. 0.8

3 0.2

, 05

Question Number : 84 Question Id : 6780946087 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH vaiue of U.u5M BalOH» solution 1z

Options :

10
12

I A

. 13
11

Question Number : 85 Question Id : 6780946088 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following moleculs is not a Lewis Base?

Options :

e

BF-

L J

L

Question Number : 86 Question Id : 6780946089 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electralysis of brine, 710 g of Cl. was iberated at anode. The weight of NaQH

formed
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Options :



800

400 g

L

80 g

o

, 4lg

Question Number : 87 Question Id : 6780946090 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

111 the Dannlel cell, «which electrocds acts as anodge’”

Options :
U

1.

. Ad
iy
Pt

4

Question Number : 88 Question Id : 6780946091 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ s more than that of NaCl because

Options :

. Nall 1s maore polar than K

- NaCl s ionic while HCl 1s covalent

lonic mobility of H™ is more than that of Na©

-
.

H™ get hydrated.

Question Number : 89 Question Id : 6780946092 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrams=

grams ampere

|

- Coulomi

e

Grams per coulomb

Question Number : 90 Question Id : 6780946093 Display Question Number : Yes Single Line Ohmection (Onfion * No (Intion

Orientation : Vertical
]
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Zeclite softening process removes
Options :

Only permanent hardness of “~ater
1.

Only temporary hardness of water

—

Eoth temporary and permanent hardness of wwater

-.

L

| The dissolvad gases In permansnt hard ater

Question Number : 91 Question Id : 6780946094 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water 15 caused by the presence o
Options :
Eicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates 2f Ca and Mag.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780946095 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatment of water uses to consume wastes in water,

Options :

Fiitration

Sedimertation

L

Chemicals

e

Microorganisms

Question Number : 93 Question Id : 6780946096 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangerous form of corrosion s

Options :
1 salvanic

Fitting

&
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ey ce

-
.

Siress
£}

Question Number : 94 Question Id : 6780946097 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWnen Pt and Co are electrically connected, which one gets corroded?

Options :

e
Pt

1.

L

Nore

; both

N

Question Number : 95 Question Id : 6780946098 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Josepn C. Patrick trnad to make antifreeze?

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

IJ

| Thioksl

Question Number : 96 Question Id : 6780946099 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was callec

Options :

| Bakelte

INyion

L

Dacron

L

" Cellulose

Question Number : 97 Question Id : 6780946100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile finer that is wrinkie resistant and strong

&
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Options :



ellulose

Dacron

L

Eakelte

J

Nvion

Question Number : 98 Question Id : 6780946101 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixture of

Options :

1 H-. + CO
NE-]' (o5

L !

Hg -+ GDE

J

H-+ CHqy

Question Number : 99 Question Id : 6780946102 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vilhich of the following 12 not a greennouses gasy

Options :

IGE}

COx

L

|

wWaler vapour

)

H4

Question Number : 100 Question Id : 6780946103 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fuels causes
Options :

Giobal warming
1

Czone depletion

L

- Acid rain

L

Eutrophication

&
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Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780946104 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The operation of searching for the mineral s called,

Options :
. Extrapolation

Frospecting

L

Exploitation

)

Extraction

Question Number : 102 Question Id : 6780946105 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vwhicn of the folloewing (s the important anciliary mining
operation

Options :

[ Deplsaring

Development

L

=trata control

L

Crilling and blasting

Question Number : 103 Question Id : 6780946106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The deposits ococur nearer to the surface are

Options :

| =ingenelic deposits

superficia: deposits

L

wratified deposiis

L

Qverpurden deposits

Question Number : 104 Question Id : 6780946107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fishing the drill hoie means

Options :

&
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| SUrveying for deviation of bore hois

Flushing the nole for cutiings

L J

FPumping the water and muc under pressdre into the hols

L

Tracing and withdravi~g the broken and lost parts from the
nole

Question Number : 105 Question Id : 6780946108 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The straignht chisel it in arilling s .sed for
Options :

1 Medium hard strata

—oft strata

L

Hard atrata

N

Yery hard strata

Question Number : 106 Question Id : 6780946109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The chemicai used In the preparation of hogster |2

Options :

: Ak o

PETH and TNT

-

ANFC and RSA

L

, ASA and PETN

Question Number : 107 Question Id : 6780946110 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=pecific gravity of the methane gas in underground coal
mine

Options :

0.659

- 0.528

0.623
0.553

]

L d

.

Question Number : 108 Question Id : 6780946111 Display Question Number : Yes Single Line Question Ontion : No Ontion

Orientation : Vertical
]
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IModern flame safety lamp can withstand an air velocity

Options :
1 10 mis

1.5 1m's

-

T2.0 M's

LI

T4 m/s

Question Number : 109 Question Id : 6780946112 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Magma is produced deep in the sarth s crust vhere temperatures

are of the order of. ...........
Options :

1 ncY - 18007 ¢

- sa0t - 18007 ¢

7009 = 14007 ¢

!—'J

500" - 13007 C

Question Number : 110 Question Id : 6780946113 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rocks crystalkized at greater depths are calied

Options :

1 Rypakisal rocks

laneous rocks

L

Intrusive rocks

oy

Fluionic rocks

Question Number : 111 Question Id : 6780946114 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AN IMadinary plane or surface which divides a fold Into o equa

cartsis called as.. ..o

Options :

: Normal plane

Dipping plane

_I
|
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Axial pians

=
1

; Overfurmned plane

Question Number : 112 Question Id : 6780946115 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

A local warping in the horzontal strata is called as. ...,

Options :

1 Homo-cline

~ Nonocline

Bl=-Cline

N

Structural ferrace

Question Number : 113 Question Id : 6780946116 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The places where the ol accumuiates to form an oll pool are called

Options :
1 Qll forms

- Qll galions

QilTraps

N

Qil pools

Question Number : 114 Question Id : 6780946117 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A grodp  of closely  spaced  parallel wveins  are

called................

Options :
Lanticular veins

Composite veins

L

Ladder vains

N

Sheatad Veins

Question Number : 115 Question Id : 6780946118 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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A zinc deposit formed by a gecingical process s calisd

Options :



1 Magmatic separation

SUpergens

|

Gravily concentration

oy

Hydrotnermal

Question Number : 116 Question Id : 6780946119 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

rocks are formes witah magma corystallizes

haneath the sarth's surfacs,

Options :
[ Intrustve

Extrusive

L

sedimentary rocks

L

Meatamorphic rocks

Question Number : 117 Question 1d : 6780946120 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A coal heading 4m wide and 2.9m height has an advance of im
per cycle, Tha amount of explosive used In dasting Is & Kg.
Taking specific gravity of coal as 1.5, the powder factoris........ ...

Options :

; .66 telkg

2.00 te/kg

2.9% te/kg

.

3.32 teikg

Question Number : 118 Question Id : 6780946121 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n horizon system of mining of coal seam, the laterals are driven

Options :

1 At right angles to the strike of the seam

Faraiea| to the strike of the seam

FI
-—
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at 457 to the dip of the seam

3
) At any angle to the strike of the seam

Question Number : 119 Question Id : 6780946122 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Deflagration (s

Options :

: Rapid explosion

Explosion and burning

|

Rapid burning but not an explosion

Lo

None of the above

Question Number : 120 Question Id : 6780946123 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The widlth of heading In Sord and Fillar method of working

depends upon

Options :

1 Cepth of working

Face machinery Uused

L

=lze of the pliars

e

Yentifation requirement

Question Number : 121 Question Id : 6780946124 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a given perimeter the greatest area of support s offarad ny

Options :

Rectangular pillar
1

Rhomboid piar

- Sguare pillar

L

Circutar pillar

Question Number : 122 Question Id : 6780946125 Display Question Number : Yes Single Line ¥moction finfian » Na fintian

Orientation : Vertical
]
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In ordinary coal. the rate of the penetration generally

Options :

[ O.5 mimin

. 2.1 = mimin

|

1.9 m'min

o

| 1.5 misec

Question Number : 123 Question Id : 6780946126 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vithh DERD snearer the cut coa s thiownr on o the armouradg

face conveyor by

Options :
1 Centrifugal face

By the movement of the machine

=
|

Evy the gummer

e

Daflectad by the piough.

Question Number : 124 Question Id : 6780946127 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Crivage of two sets of reads and forming of pillar is known as

Options :

1 VWorking in the broken

Working In the whole

|

Lang-wall retreating

Lo

=liging

Question Number : 125 Question Id : 6780946128 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

zasiation period Is

Options :

1 The time Interva! betwaen the mining start and production start

The time Interval hetween the mining start and mining ciose

—
|
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The time interva: betwean the production start and mining ciose

L

, Lagonignition.

Question Number : 126 Question Id : 6780946129 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Elasting of a stope In Vertical Crater Reftreat imethod consists of

Options :

Elasting one rovw after another
L.

Creating Initiai slot going for mass tlas!

L

Elasting all the noles in slices

L

Elasting one column after anathe-

Question Number : 127 Question Id : 6780946130 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

High production rates coubled with large scale and exiensive

sUbsidence resuits from the method of

Options :

1 Top sicing

Block caving

L2

SUbkievel caving

I

vertical Creater Retreat mining

Question Number : 128 Question Id : 6780946131 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bast suited mining method for thick veinimassive deposit. with

strong are, strong wa#ks and steep dip s

Options :

Open stope
L.

Ui and fill

L A

=hrinkage stoping

L

Block caving

Question Number : 129 Question Id : 6780946132 Display Question Number : Yes Single Line

Orientation : Vertical
]
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Tw or three compartiment method of ralsing i1s imited to?

Options :

1 1010 Tan

15 ic20m

L

2010 25 m

L

25 10 30 m

Question Number : 130 Question Id : 6780946133 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A method of contiolling subsidencs by proper conran of

dnderground mining operations 2 «nown 8%

Options :

1 ontiguous mining

=towed mining

|

Harizon mining

!_-.-

Harmaonic mining

Question Number : 131 Question Id : 6780946134 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Beam thaory is appied {o
Options :

| Frop free front face

» Frashiy exposed roof

Raof holting

.

Ear supporting

Question Number : 132 Question Id : 6780946135 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tha load at which an axially loaded prop reaches its eiastic Hmit (s

Options :

_ Load bearing capacity

setfting load

L

¥ield ioad

)
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: Early bearing lcad

Question Number : 133 Question Id : 6780946136 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a surface mine, the wraximum angle of slope of the bhench

does not excead
Options :

[ 30

| -
I
¥l

5

L

Question Number : 134 Question Id : 6780946137 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In respect of dipper shovel, "crowding means

Options :

1 Raizing bucket o dumper neight

Fiercing the bucket into broken minera’

L

Zwinging the bucket rouna

I

hMoving the shovel from one place to another

Question Number : 135 Question Id : 6780946138 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a ripper. the ripping tooi exerts thrust into the ground by

Options :
| Aydraulic pressure

comprassed air pressure

—

ts own weight

[

Hammering

Question Number : 136 Question Id : 6780946139 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The slope of the dumps of waste designed in such a way that

waste should not rofl down at coat benches when it assumes

Options :
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1 HS Momenium

ts angle of repose

L

=lope angle of hench

N

Criticat height

Question Number : 137 Question Id : 6780946140 Display Qucstion Number : Yes Single Line Question Option : No OOption
Orientation : Vertical

The main reason to prepare Environmental Managemeani Plan is

Options :
| To manage air. water and jiand polluiions

To reduce noise and fly rock ol wticn

L wd

To manage groundc vibrations

L

To mproave the production

Question Number : 138 Question Id : 6780946141 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

The method of mining where the mineral ‘s g#xcavatad in small open pits and

s transported 10 the surface through Wwg excavations is called

Options :

| Hydradhae mirning

Dpen pit mining

L J

Glory hole mining

L

Alluwial mining

Question Number : 139 Question Id : 6780946142 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Terrace cut for a Lignite deposit is given with the heip ofy

Options :

1 SuUface miner

ontinuous minet

L

Euckeat VWhee| Excavator

I

Dipper shove:

.
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Question Number : 140 Question Id : 6780946143 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the wet bulb temperature exceeds 30.5'C at any piace air

cUrrent shouid bhe faster than?
Options :
. tmis

2 Mmi's

-

3 mM!s

L

4 DB mis

Question Number : 141 Question Id : 6780946144 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

By varying the pitch of the dlades the preszure generated by gxial

flonyr fan
Options :

1 remains same

Dacressas

L

~Increases

e

ncreases 2 timMmas

Question Number : 142 Question Id : 6780946145 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

N an underground wworking area, CHy and CCs are normally

expected to be found respectively
Options :

1 Mear the floor and along the roadvay

Neaar the floor and near the roof

L J

Mear the roof and near the floor

)

Aleng the roadway and near the floor

Question Number : 143 Question Id : 6780946146 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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f the CO/Cdeficiency ratio in a mine is 2.22 %, i indicates

Options :



1.

L 3

e

Existence of spontaneous heating

Actiye Tire

Heating in advanced stage

MNorftal 1o the coal mines

Question Number : 144 Question Id : 6780946147 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The detector that works on the princiziz of diffusion-cembusticon-

coantraction is

Options :

—

I

Spiratarm

Methano meter

spectrometer

Fing rose detector

Question Number : 145 Question Id : 6780946148 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A gas mask does not include

Options :

1

L J

L

Check valve

Vi arming device

Face plece assembiy

Coolant canistar

Question Number : 146 Question Id : 6780946149 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The amaunt of heat reguired 1o bdrn the methane |3

Options :

1.

L

L

19 kKcalmoie

155 keal/moe

22.1 kealimoie
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29 Keallmoie

Question Number : 147 Question Id : 6780946150 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The minimum thickness of the exmpiosion proof 1solation stoping is?

Options :

1 .49 m

R REC N

4,20 m

e

N1l

Question Number : 148 Question Id : 6780946151 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

The iower limit of expiogibiiity of methanie s

Options :

| £.23%

2.9 Y

4.5%

.

16 .5%

Question Number : 149 Question Id : 6780946152 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An early Indication of spontanecus neating of coal can be given Dy

Options :

1 sweating of strata

Farmation of CO-

Lk

Rise of temperaiuis

L

ACTve fire

Question Number : 150 Question Id : 6780946153 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alr samptes behind the stopping should be drawn during periogds of

Options :

1 High barometric pressure

Low Barometric pressure

N _
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iedium haromelric pressure

3
) vary high baromedric pressure

Question Number : 151 Question Id : 6780946154 Display Question Number : Yes Single Line Qucestion Option : No Option
Orientation : Vertical

A stone dust barrier should be provided at a distance from the

nearest working face not less thar

Options :

I‘EEEHT}

220 m

L

. 322m
350 m

Question Number : 152 Question Id : 6780946155 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The part of light which is reflacied is

Options :

Luminous efficiency
1.

IMean spherical candle power

L J

safuf for [iumination

I

4 Candela

Question Number : 153 Question Id : 6780946156 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In dasigning the safety appliances agamst fire damp explosion the

point which has more importancea |
Options :

Mathane percentages
L.

Amount of heat

L

lgnition temperaiure

I

Lag on ignition

Question Number : 154 Question Id : 6780946157 Display Question Number : Yes Single Line

Orientation : Vertical
]
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The presence of nitrous fumes are delected by

Options :
| The smell of rotten eggs

Swaet smels

Idetatlic taste on tongue

L

Haadachs

Question Number : 155 Question Id : 6780946158 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In shaft plumbing, the plumb Hobs are mmersed in a2 oucket of

wgler 1o pravent

Options :

1 Dselllation of wires

Effect of ventilation clurrent

L

Kinking of the wires

L

Swinging of wires

Question Number : 156 Question Id : 6780946159 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The combined effect of curvature and refractien in levelling is an

arror wWhich is

Options :

[ Adclitive

Slbtractve

'

rELtipHcative

e

Lvishvye

Question Number : 157 Question Id : 6780946160 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum permissible angular error in seconds in a closed underground
traverse of 16 stations measured with a 20 seconds theodolits is

Options :

. 200

&
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60

L

120
ol

Lo

Question Number : 158 Question Id : 6780946161 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

wvhat will be the angle between the {90 . res OA and OFE hose

bearings are 56% and 154" respeciive 7

Options :

T

" 53"

-

82"

L

5

L

m

18"

Question Number : 159 Question Id : 6780946162 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The type of vernier used in thegdolitas is

Options :
Fefrograde vernier

1.
Extended vemiar
_ Doubie folded circutar varnier
.
Dotbhie folded verniar
4

Question Number : 160 Question Id : 6780946163 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The horizontai angle petween the frug mearidian and magnetic

merician (s
Options :
1 Eaaring

Locai attraction

1

Caclination

I

variation

9.
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Question Number : 161 Question Id : 6780946164 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The very first step in measuring distance between two stations is

Options :
Unfoiding chain or tape

Ranging

-'

Meazlirament

L

Pacing

Question Number : 162 Question Id : 6780946165 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The simplest instrument usead for setting right angies is

Options :

1 Optical square

Prism sguare

L

ross stafy

I

zite square

Question Number : 163 Question Id : 6780946166 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The metnod of levelling adopted for laying cut a haulage readway

underground is

Options :
Cifferential ievelling

ross-seciional leveiling

|

Reciprocal ievelling

IJ

Longitudinal tevelling

Question Number : 164 Question Id : 6780946167 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A compass traverse carried out for rough survey 15 balanced by

which of the following method 7

Options :
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1 Eowditch rule

Transit rule

L

araehical method

L

AXis meathod

Question Number : 165 Question Id : 6780946168 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The staff reading taken on a staticn befare stifting the instriment is

Options :

| Fore sight

Intermedialie sight

L

- Back signt

N

Change point

Question Number : 166 Question Id : 6780946169 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n the surveyor s telescope the eye plecs commanly Jsed s

Options :

1 Erecting eye plece

HUygens eye plece

L

Ramsdan eye plecs

L

Ciagonal eve piece

Question Number : 167 Question Id : 6780946170 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For strveying a road or rallway ine «Ith compass or theodolie

the meathod sylitabls Is
Options :

Cirect bearing
1.

Inclined angie

|

Defiection angle

L
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; ContinuoUs azimuth

Question Number : 168 Question Id : 6780946171 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The property which enabkles a metal to ke drawn into wires is cal.ed

Options :
1 Cructility

lialleability

Toughness

I

Erittleness

Question Number : 169 Question Id : 6780946172 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The space factor for stranged rope Is7

Options :

| S 10 40 B

49 1o 50 Yt

a0 to 50 T

Lo

, 75 %

Question Number : 170 Question Id : 6780946173 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The correct place for tensioning arrangsment in endiess rops

haulage Is

Options :
1 At the top of the Inciine

At the hottom of the Incline

4

ANy point on the level roadway

L

Af the potnt where s:ack rope s most likely to occur

Question Number : 171 Question Id : 6780946174 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In case of power fallure. the devica used to hold the belt o rup downward is

Options :
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1

L

L

3.

seduence contro

Eack stay

Femofe control

Holdbhack

Question Number : 172 Question Id : 6780946175 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The power Is suppiied to the ccal Arill 2y

Options :

1.

- S core armoured cabla

.

5 cors grmodired cahle

| 4 core screened cable

5 core soreaened cable

Question Number : 173 Question Id : 6780946176 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhat s the normal operating air pressdre for phaumatically

operated machines In underground in sy

Options :

1.

-

]

3

B3 10 75

20

S5 10 100

10010 120

Question Number : 174 Question Id : 6780946177 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Turlzine pumps are suitabie for water quantifies up o7

Options :
1 lac ditimin
L0000 Tt min

L J

SO00 8t:min

)

S0 Hmin
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Question Number : 175 Question Id : 6780946178 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For winding purpose [ocked ool rojpe 18 preferred because It

Options :

1 Dffers greater rasistance

Ras greater fill factor

~ Pearmits high factor of safety
Lannot be spliced
4,

Question Number : 176 Question Id : 6780946179 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A Component which plays most impetant mole of safety In

detaching hook s

Options :

1 Jaws

Cantre pivot

L d

C-link pin

)

Copper pin

Question Number : 177 Question Id : 6780946180 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The usual maximum speed of winding drum shaft is

Options :

120 rpm
240 rpm

2

=0 rpm

L

45 rpm

Question Number : 178 Question Id : 6780946181 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

N Keope winding the overwinding 1s prevented by

Options :

1 -afety hook

&
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Ereakage of rope

L o

Canvergence of guides

!_-.-

Thickening of guides

Question Number : 179 Question Id : 6780946182 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Lemniscale bar s the component of

Options :
Foad header

=hietd support

DERDS

)

AFC

Question Number : 180 Question Id : 6780946183 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I underground mines. the power cannot be used at voltage exceeding

Options :

;| Su

110

L.

220

)

250

Question Number : 181 Question Id : 6780946184 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A% compared with cage. a skip carries a large payload
Options :

| 2 times

3 times

5 times

I

, elimes

Question Number : 182 Question Id : 6780946185 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Armoured chain conveyors are principatly used for?

Options :



Bord and pittar method

1
in gate roads

: Frop free front of LAY T1ace

: Eridge conveyors

Question Number : 183 Question Id : 6780946186 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

hicro arganization is a company = th a canital iess than

Options :

l_iﬂlakha

25 lakns

L

7o lakns

oy

00 iakhs

Question Number : 184 Question Id : 6780946187 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ragister of raturn of reportable accigants s maintained n the Torm of7

Options :

| FORN

~ FORNM K

~ FORM L
, FORR M

Question Number : 185 Question Id : 6780946188 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Mine FHiles came into force on

Options :

| 2" wtarch 1955

2™ July 1955

L

2M May 1955

)

2™ January 1955
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Question Number : 186 Question Id : 6780946189 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The grinking water points shall not be siiuated within ....... .......0f
any washing piace, urina’ or latrine,

Options :
[ B m

Halel!

—
1

O

2.
4 12 m

Question Number : 187 Question Id : 6780946190 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It the gradient is |ess than 1 10 &, manholas may be provided at

intervals of not more than

Options :

10m

21 m

L

30

E

40

Question Number : 188 Question Id : 6780946191 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrangement snall be made for suppression of coal dust with

<ater wAthin at least, . .....of the face”

Options :

1 5 1

50 M

L

S0 M

Lo

Too0m

Question Number : 189 Question Id : 6780946192 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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As per Mines act 1252, the notice of opening of mine s given In

the form..7

Options :

1 FORMN |
FORR

L

FORM B

.

FORR] Y

Question Number : 190 Question Id : 6780946193 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Every worker has o undergs vecational  fraihning  once

[ —— NRArsy

Options :

3
5

L

)

Question Number : 191 Question Id : 6780946194 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Except in stone drift. not maore than ...................shots shall be

fired in any one round.

Options :

1 5

10

=
1

s

e

Question Number : 192 Question Id : 6780946195 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Every plan shall show a scale of the pian at ieast

- iotg1a R

Options :
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Thom

20 C

L f

By

2

4 3dom

Question Number : 193 Question Id : 6780946196 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Qre grade for which revenue from he recoveralb e reserve exactly
aguas the cost of mining, treaiment, ans marketing s Known as

Options :

Ut = off grade
1.

Break — even grade

-

Avarage gragde

L

Liquication grade

Question Number : 194 Question Id : 6780946197 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-afety officer shall be appointed Iin a mine if the average monthly

ouUipUt exceeds

Options :
2000 tonnes

000 tonnes

L

Fa00 tonnes

J

10000 tonnes

Question Number : 195 Question Id : 6780946198 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 high efficiency combustion and advanced power generation technoiogies. the

coat fired power plants are units larger than............ . WY

Options :

. 600
500
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5 400

, (H0

Question Number : 196 Question Id : 6780946199 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process which Is hased purety on density of minerals and does not depeng

on rate of fall or size of an ore or Mmaierial 18 KNS 838, i eee i,
Options :
Takling
1.
=ink and float
_ Froinh flotation
.
J13gin
A Siejigle

Question Number : 197 Question Id : 6780946200 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A metaiurgical microscope can e emploved to observe and measure directly

the particles down to. ... L. L THETONRS,

Options :

llLessthan1

Mote than |

L ?

L=zs than 1.5

L

More than 1.5

Question Number : 198 Question Id : 6780946201 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Blake jaw crusher. the angle between jaws IS abolt

Options :

y
10

30

L od

i hla

I

40"

Question Number : 199 Question Id : 6780946202 Display Question Number : Yes Single Line
Orientation : Vertical
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The primary gringding (s refarred 10 the reduction of cre as mined

LIS VR, & covs 5 s 5 s © 5 5 e o s 5 o508 5 9 8 MIT

Options :

50
1.

. 2d0

-

186

3.

e,

Question Number : 200 Question Id : 6780946203 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The method of separation of Tvo or more 2f minsrals of different
specific gravities s calied

Options :
Flotation

=leving

L A

v ashing

Heayy media separation
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